XV-2. UrdEEE6LD LUCUUNUTL L LUCUULYUSRL URUULUYUL LUUTULUCLANRT UUSNRSI NN,

sunusnkre3nNkFuLGrh UUUUG LER

Ownwympym G | Uhun/np | Uwlwght
1.Pnquwplyngh pbbumnp vhqplulpoi
unfjubph dnunpuwgnnid opugnuighl
Swdwlupg
Onnuplynnh wnyjwilbph gpuignud
opwgpwjhl <wiwjupg Uinjgwp
[Onnupynnh wpdtpnptinh Yepuptinyug
wnyjwltiph dninpwgpnid opwqpwjhG UGydwun
Jwiwlung
2.Rwdlibmnduliph (thwjbph) nbhumph
Yuwpmd L wwhuwlnid
Updtpnptiph
nipwpwlsjnip npuiu
PwdGughG wpdbpnpbph (huygtph) flwllljwi, L [ —
hwyyunmu (ubithwwGuwwnmbptph nbnupufuwo wntnupwfuju o 10,000
(wljwlGwwtintinh) nitunph yupmd b wndbtpnpbnh (thwjytph)
wwhwywGnid) wpdtpnptinh (hwtph) (o ey putuly
hw)hyGtph pwGuy/
wduwul
50-hg - 99-p Gipwnjuy
ntnupwfuju o 14,000
wndtpnptiph (thwjtph)
hwphyGtiph pulwy
100-hg -199-p Ghpunyuy
wmtinuwpwpfujwo
19,000
wpdtipnptiph (thwjtph)
hwhyGtph pwGuy
200-hg - 499-pn Ghpwnyuy
wmtinwpwpfujwo
23,000
wpdtipnptiph (thwjtph)
hw)hyGtph pwGuy
500-hg - 999-n Gtpwnjwy
wmtinwpwfujwo
28,000
wpdtpnptiph (thwjtph)
hwphyGtph pwlwy
1000 L wytth
wnbtinupwfuju o
wmbtnupwfujuwo 50,000
wndtpnptiph (thwjtiph)

hwzhyGtph pulwy




3. Nuwmnunnndubiph hwpywnng
(wuwpuumndubiph
ulnfnuljuGunnbipnbnh
(wlywlunnbplbph) nhbwnph Jupmd L
wwhuwlnd). (wpmwpdnpmy
wmnuwhwynywo wijuwwlu i
wpdbp nilhgnny wuwmnunnndubph
hupjundwl (wpdbpnpbnh
ulnfuljuGunnbpbnh
(wljwlunnbplbph) nhbunph Jupdwl
L wwhuwGw () uwlpughln
huwpuplpfmd F << guuwdny widuju
Ybpght opjw hurdwp GR-h Gnnidhg

uwhdw o hnfuwpdbph
huwpyuiplny)
Mupumwwunndutiph hwyywnnid Slzrlwil wzgiql;m
(yuwpuwwumndutiph ywpnwnndutph
ubthulpuGunnbpbph Jyupuwpwlsynp nuup  |dhGsk 1,550,000,000 << 0.0030%
hwiwn pnhwlmp  |[gpudp ’
(wljwGwwntintinh) ntunph yupmd L Wil wpdtp/
wwhwwln)
wduwlw i
1,550,000,000 << npwihg 45,000
wiybiy
4.<uph owbpunnnph thmphnfumpju i
hbwmluulpny nbhuwmph Jupdwli
wuydwlwgnh Yhamulpnid
Lwyh oytipwwmnph thnthnfumpju G - Epih[f nﬁfphw
htinlauGpny phbunph wwjswwgph lfwgwrlf } g 7,200.00
dpuilipnud bl hnfuwGgnid
3. Stnuwpupfuyuo pudimndubph
(thwbiph) quuuligiw G hupuinnd
(pwdGmndubph mbnuwpwpfund
pwqgunnipjudp pudihmndubph
hpuwuwpujughG mbnwpwpfudw (G
pbwpbph)
Stnwpwzfutnn
pwditmndutiph
(thwjbiph) plnhwGnp
wijwliwlu
Stnuwpw)ujwo pwdGtmniutinh (QmUuwjwyw) wpdtp |dhGsk 3,000,000,000 << 0.09%
(thwyt wigywl hwyywnnui wjtph nhiypmud wd e
jupp) gputig 2 Jupp nhwp nwun
uwuqbh
hw)Junydwa hhip L
plnniGymd thwjtiph
onijujwlwG wpdtipp)
3,000,000,000 << npwihg 2.760,000.00

wiybip




6. Shnwpupfuyuo yuwmnunnndubph
qnulgdwl hwpjuwnnid
(uwpunuwmndubph mbnuwpupfuniy,
puwgunnipjudp wuwpuuanuiubnh
hpuwwwnuljuhG mbnupwpfudo G
nbuypbph)

wiybip

Stnwpwzfutnn
Stnwpwyujwd ywpmwwmndutinh wywpunwwmniutiph dhGsl 30,000,000,000 << 0.015%
qnuGgdwl hw)yunnd nGnhwGmp npwin ' °
wijwiwlwl wpdtp
30,000,000,000 <<
2,760,000.00

npuihg wjtg
7. Spuuwupuilpughl wnwewiplh
dhongny mbnupwpfuyuo
pwdGinndubph (thwjbph) quulguwl
huwpjunmy

Stnupwytuynn
<puwiwipwluhl wnwwpbh dhongnd | seenvsugpn [shask 1,000,000,000 2
wmbtnupwfujwo pudGtnmniutiph 0.09%
(thwytiph) gpuGgdwG hw)yunnid (thwytph) pinhwdnip - npuidn
wijuwliwlwl wpdbp

1,000,000,000 << npwihg 240.000.00

wybg R
8. Inwwwnwluyhl wnwewnlyh
uhgngny inbnwpwpfuldwd
Wwninwinndubnh qnwlgdwl
huwpywnnid

Stnwpwzfutnn
SnuiwuipuiuhG wnwgwnbh Shongnd | ngutiph thisk 4,000,000,000 <<
wmbtnupw)fujuo yupumwwunndiutiph 0.009%
wlgiwl hw)gwnnid plnhwlnig nnwdin

an wlijwlwlwl wpdtp

4,000,000,000 << nnunihg 360.000.00

wib T
9. Gnpuynpunnfnf gnponnnipjudp
wuydwiwnpjuw o ownwmpjniGGhn
Unpunpwwhy gnponnnmipjul Unpynpuwwnhy
qpuigiwG qnponnnipjw
hwpuwnmd(pugunmpjuip wnwplw wpdtpnptph dh Eﬂ; 3,000,000,000 44 0.09%
Jupquynpynn pmyuwymy wolanphG (thwytph) pnGnhwGnip et
pnijjunpyuwo wupmwwumndubph) wijwlwlwl wpdtp

3,000,000,000 << npwihg 3.600.000.00




Unpynpuwwnhy

qnponnnipjwl
Yuipquynpynn onijuynud wnlanphG — [wowplu .
pnyjjunpyuo Jupquynpynn thGsk 3,000,000,000 <& [0.01% ujwqugnijup
wuwnpunwunndubphynpunpwmhy onijuynd wnlanphG npuip 24,000.00
qnponnnipjw i qpuiigdwl hwpjunmy [pnyjuwmpud
wwpuwwnniubtinh
nGnhwnip Swywy
3,000,000,000 << npwihg 300,000.00
wiybiy
Onnwpynnh wpdpnptiph hwayh
pugnu {wyhy UGyawp
10.Updtpnpbph (huybpp) guulgyuo
vbthwljwGuinbinbph
JuGywGunnbpbph/ gniguilih
wpudwngpnif
Undtpnptinh (thwjtnh) gpulgquo
utithwlwGwwmbiptinh LityupnGujhG
(wGywlwwnbptnh) gnigulh Smgul tnuGwyny 1,200.00
npwiwnpnid
uhGsl 500
pwditmtintiniph(thwyw
pnpwjhl tnuGwyny wbptip) nbugpntd
1,200.00
500 L wytijh
pwdGmtiptiptph(thwjw
wbpbiph) phiypnid
3,600.00
uhGsl 500
pwditmtintiniph(thwyw
thnunw h( tnulwyny wbptinp) nhugpntd
1,200.00
500 L wytijh
pwdGmtiptiptph(thwjw
wbpbiph) nhiypnid
4,800.00
11.Unpdbpnpbpny /thwjbpng/
Qununwpywo gnpownlnipyni GGLGph°
wndh /wupdbpnphph thnfuwGgnid/
Ybpwpbpyuwy mbnbliulph /unwlg
hhdpbpp/ mpudwnpoid
Stintijulph mpuwdwnpnid
(ti5YyunpnGuyhG tnuwGwyny) Stntiup tayGun
Stintijulph mpwdwnpmuy (pnpwjhl Stitluwtp 8.400.00

tnuGwyny)




12. Updbpnpbpny /thubpny/
Qununwpjwo gnpownlnipyni GGLGph "
wndh /wpdbpnphph thnfuwGgnid/
Ybpupbpyuy mbnblwlph
mpwdwnpmd (hhupbpny)

Stintijulph mpuwdwnpnid

(fEYunpnGuhG nwGwyny) Stntijulp

14,400.00

Stntywlph mpwdwnpmy (pnpuwyhl

Gy Stntijulp

18,000.00

13. Uy mbnblpulplGhph
(rwgwnmipjudp wpdbpnpbph
(thwybiph) hnfuwlgdwl) Yepupbpjuy
wbnblwlph impudwngpnud

131. Uy mbnpLliulpGhph
(rwgwnnipjudp wpdbpnpbph
(thwybiph) hnfuwlgiwl) Yepupbpjuy
wmbnblwlph mpudwnpmd (hhdpbpny)

Stntwlph mpuwdwnpnid

(tilnpnGwhG bywGulnyg) Stntyulp

16,800.00

Stintijwlph mpwdwnpmuy (pnpwjhl

b Gty Stintijulp

24,000.00

13.2. Uy tnbGn&hwlipllinh
(pwgwnnipywdp wndbpnebph
(thuyliph) thnfuwlguwl)
Ybpwpbpywy inbnblwlph
wnwdwnnned (wnwlg hhupbnh)

Stintijulph mpuwdwnpnid

(ti5YyunpnGuyhG tnuwGwyny) Stntijulp

9,600.00

Stntywlph mpuwdwunpmy (pnpwyhl

Gy Stntijulp

12,000.00

14. @nnupynnh dwuhG vyuGtph
thnthnfjunipjniGGtph gpuGgnid
Lwidwupgnud (Gepunnd
pnnupynnh quGytnt quyph,
pwdlGtnhpwlwb pGybpnipju b
wmbtiuwlh, mGoptGh, nGYtpnypjwul
wijwliwiwl yud wpdtpnptph
(hwuwnwpnpw hlhg ng
thwunwpnpwjhl duh Jud
hwlwnwyn) dwupl

wmbtntympnGGatph thnthnfunipjniGn)

SyjwGtph thnthnfunipjwG
untnpuwgpnid Lwdwlupg

Uhydwn

15, GhtimpnGuilul nhynghuwphuwf
ynnihg <wipyh owbpuwinnph
dpplinpnnipyundp ponuiplnnjli
dwnnigynng jmugnigfis
ownwmpnilGhn




CwhnipwpwdhGGtnh hwyJupynd L
Jdwnpnid

CwhnpwpwdhGGtph
Jdwnpiwl hwdwnp
(whiwwmbtujwo dnlnh
plnhwnip gnidwp/
Jnipuipwliyynip
qnpoplpwgh hwdwp

0.20%

Muwpunwwnniubph wpdtlupnbGtph
JowpiwG jud dwpdiwl wpnyniGpnud

nnuiwluwb dhongGtinh pw)fumuy

dawpjuo/pwfuduo
npuiwlwb dhongGtipnh
qnuiwpn
Jnipupwlyynip
qnpoplpwgh hwdwp

0.02%

16. Owlimgnid pnpuplnghl
wndbpnpbph (rwybpf)
qnpownlnipjniGGLEph Ywuhl
(wpdbpnpbph (rwybpf) infuwlgdul
hwldGumupulpuGGaph L
wpdbpnplph Ghunndwdp
fpunjniGpGlph
wwhdwGunpuwymdGaph Jbmupbpuy)

Owlnigni

nwnptywb

240,000.00

17. Pnnuplnghl opklpny L on
quilnGungpmpjudp vwhdwlyuo
wpndbpnpbpnh dnppbpdwd L wyy
vwhdwluhwimdlGhph Ghuwmdwdup
hulnpmpjul ol Guignid

Luynnnipjwl hpwluwGwuwgnd

nwnptywb

1,200,000.00

18 UlhwlwGunnbipbiph wpdbpnpbnph
huwpjGepnmy wnlw wpdbpnpbnh
(puwguwnnmipjudp omwnbnlnw
wwhwnnifi dhongny hwpyuwnyng
wpdbpnpbnph) wwhuwbdwl him
quuwuo ownwmpiniGGLn

Updtipnptinh hwyh pugnd

Undtipnptiph hw)ynid Gipunguo

wmtintiympniGGtph hnthnfumpjwl
qnulignid

Updbtpnptinh hwyhy

UGYGwp

UaJdwp




{wpynid wnlw wpdtpnptph
wwhywinmd (Uju swnwjnipjul
nhiwg uwlwqbh hwyywnpynuin
ujuynmd k Lwipyh owytipwwunnph Ynnihg
hwpytimhpng hwyyh yipwpwgdwl
Juud pwgdw @ wwhhg)

3nipwpwlynip wdujw
JtnghG huwytnhpng
hwynid wnlyuw
wnpdtpnptinh
(pugunnipjuip <<
lupquynpynn
nitjuynmd wnlunphG
payunpyuo, hGsutiu
(wl yhnwljwl Jud
hwdw)GpwjhG
utithwlywlmp)niG
hwlnhuwgnn Jud <<
UhlnpnGulw
pwGyha
utithwlywlmpjwl
hnwyniGpny
wwwnlwlnn
wndtpnpbnh)
UGwgnnpnGtph
wijwlwlwb wpdtp/
wiuwwi

UhGsl 10,000,000.00
npud wijulwlwb

wpdtipny thwptiph
hwiwp wGydwnp

wiybp

10,000,000.00 npuin
gtipwquignn
wljwlwlwl wpdtpny
thwpbiph hwdwp
0.00075% GJwquaqnijGp
1,000.00
Updtipnptinh hwpyh thwynud UGydwn
19. Gwnquwynnnn pnLyuhg nnipu
wpdbpnptnh phnfuwlgdwdp
wwydwhwynndwod
ownuwynLpnLtULGn(@nfuwligudwl
uwlwahlp sh qulbdynid wyl
nbwpbpnid, tpp
wdbpnretninfuwlignn/unwgnn
Unnd E hwlnhuwlnid 33
YGUnnpnuwwl pwliyn)
G-npownpph wnwnpyuw
hwGnhuwgnn
Pudtunndutiph (thwtnh) ulﬁPthIﬁlPhIlh (it udhGsl 1,000,000 <<
thnfuwGgnd, (Gipunjw’ wquun plnhwGnip hGal 1,000, 1,200
GJuwlwlywl wpdtp/ wu
wnwpnidip’ hwdwdw)lnipjudp) wy 4 nouR/ nnen
JGwpnu k thnfjuwlgnn
Ynnup (Yud
2whwqgpghn Ynnip)
1,000,000 << npuihg
dhGsl 3,000,000,000 << 0.15%
nnuip
3,000,000,000 << npwihg 3.300,000.00




Muwpunwwnniubph thnfuwlgnud,
(Ghpunyuw’ wquwu wnwpnidp’
hwdwdwjGnipjunip)

G-npownpph wnwnpyuw
hwGnhuwgnn
wuwpunwnniutiph
nlnhwlnip
wijwlwlwb wpdbtp/
JGwpnui k thnfjuwGgnn
Ynnup (Yud
2whwgnpghn Ynnip)

8hisk 4,000,000,000 <<
npwdn

0.015% GJwquaqnyyGp
2,000.00

4,000,000,000 << npunihg
wiybip

450,000.00

Nbyn jud <ujunund nbyn
gnpownpltinh Yapdw G wpnyniGpnid
wndbtpnptph thnfuwlGgnid

LwGdwpwpwqhp/
Jawnpnuip
hpwjuwlwuglnud k
Jnipwpwilsjmp Ynndn

7,200.00

Mnpundtith thnfuwlgnid

hwGdwpwpwghp/
Jdwnpnuin
hpwijwlwglnid k

tinfuwlgnn Ynnin

7,200.00

19.1PwdGtmniutiph,
wwpunwnniutiph thnfuwGgnid
"Unwpnid Jawpiw bl nhiwg"”
uljqpnilpny gubGljugwd hpdpny

Pwdbtinndutinh DVP thnfuwGgnid

G-npownpph wnwnpyuw
hwGnhuwgnn
wpdtpnptinh
nlnhwlnip
wlijwliwlu
wpdtip/

Jdwnnuin
hpwlwlwglnud L
mpuwpwlsnm Ynndn

thGsl 1,000,0004< npuiip

2,400.00

1,000,000 << npuidhg
8hisk 2,000,000,000 <<
nnwip

0.25%

2,000,000,000 << npuithg
wiybp

3,600,000.00

Mupumwwundutiph DVP thnfuwGgnid

Qnpowpph wnwpljuw
hwlnhuwgnng
wwmnuwumnuubnh
plnhwlinip
wlijwluwljul

wndbp

{Jawnnidn
ppwlwGugbnid F
ynyupwilisnin nnun

8hasl 10,000,000
npudp

2,200.00

10,000,000 << npuiihg
8hask 2,000,000,000 <<
npudp

0.02%




2,000,000,000 << npuithg

il 480,000.00
19.2. Updtipnptinh qpuyh
wnunununuwiwl jupgny hpugnd
Dpwginn wpdtpnplph
plnhwlnin
Undtpnptinh gpuyh wpnwnwwnwywb wiiwlulul uhGsl 140,000,0004<
wanws wpdtp/ i 0.40%
hnwg Jawpnuip nnwiip
fpwlwlwglmd b
qnuijunnt i
140,000,000 << npuithg 420,000.00
witip

20.Undbpnpbph quuyjunpuud,
uwnbgdw i wnlummuhl
wpgbyunpiwl, hlswbu Gul duiyGh
fipwynilph vwhdwGuhujdu i
qnulgdwl hbin Juwuo
ownwympniGGhn

PwdbGtnndubinh qpuijunpnid

Gnwyh wnwplu
pwdGtinndutph
(thwjbiph) plnhwGnip
wijwliwlu
wndtip/JGwnpnuip
hpwywlwglnud L
gqpuywunntG/pwhwgpgh
n Ynnuip

8hask 3,000,000,000<<
npuwdn

0.01% Guquqn)ln
3,600 npud

3,000,000,000 << npuithg
wiybp

3,000,000.00

Gnwyh wnwpluw

wwpuwwnniutinh
nlnhwlnip
wiyuiwywb uhGsl 3,000,000,000<< 0.02% GJwuquqnyGp
Mupnunndubh gpudunnnd wndtip/JGwnpnudip nnwin 2,400.00 npud
hpwlwlwglnud L
gqpuywunntG/pwhwgpgh
n Ynnun
3,000,000,000 << nnuihg
iy 600,000.00 npwi
Uwntgwuo
Uwnhans ulﬁpdl—:ﬁgirph (dhujtinh) thGsl 3,000,000,0004< 0.075%GJuquqn)Gn
9 plnh I npuip 6,000 npuu

wijwlwlwb wpdtp/
dawpnd b {wpytantipp




3,000,000,000 << npuwihg

iy 3,000,000.00
Qupquynpnn pnijuymd YGpYwd
qnpownpGtph wpryniGpnid
wndtipnptph wnlanpujhG Uhqdwnp
wngbijunpnid
Quipquiynpnn pnijuynd welanph
Gyuwwnuyny npuiwluwl shongltph
ntiynGugdwl qpulgniip taqdun
Jwiwjwpgnid
Lytwnpytynt hpwyniGpn
uwhdwGwthwwo
Lytwnpytynt hpwyniGph wp dhpqlllalhpllll 0.50%
dutwlwluwynp vwhdwGwthwlnid plnhuwtinip
wlijwlwlwl wpdtp
Gpujunnwo,
uwntigquwo,
wnlunpwhG
((ywwnwyny
Q-pugh, vwntgdw b, wnlunpwjhG
wpgbpunnjuo b wjg
wnqbjunpiwG b wjp UGydwn
uwhwGwthwlniiGtph qupuptgnys | W PIW dwdhwyniGtph
wnpdtipnptiph
nlnhwlnip
wljwlwlwl wpdtp
21. Qupybimppnop mbnbympin GGhEph
wpudwngpnif
Updtpnptiph hwzhg punyuoph
npwiwnpnd hwynud wnlw shwyl gkl Lunwop 1,200
nwuh wpdtipnph Ywuny (nttunphg
pwnyuwop))
Snipwpwlyynip
Undtipnptinh hwh dGwgnpnh wpdtipnptiph nuiup
Jtipwpbpyw) hwyytnynipjwb {wpytnympynil hwiwp 1,000.00 npuy,
wpwdwnpnud GququmJ[i]g‘ 1,200.00
npuu
Updtipnptinh hwyny juumwnpjwo
gnpownimpmGatph (wyn pynd’ pun Sthlwip 2.000.00

wndbtpnpbpnh Jupdh) dwuhl
wmtintwlph mpwdwnpnid




22. Qupylnppng hwpgdwl hfnful
Ypw wyy mbnbhmpimGaaph/
pwgunnipjudp gnpownpGhnh
Ybpuwpbnyuwy mbnbinpmiGGaph
hwpgmdGaph/ Jepupbpyuy phkumphg
quwi wadGwlw b hupyhg mbnblpulph

hpdpbpny impuwdwigpnud
Stntjwlph mpwdwnpnid
(Eynpntiwght bnwGuyng) Stintiulp 6,000.00
Stntywlph mpuwdwnpmy (pnpuyhl 12,000.00
tnwGwyny)
23. Uljwluwwmnppng huphylGhph
pwgdwl b hwpdmd wnljuw
wpdbpnplph wwhwywldwl hinn
quuwuo ownwmpiniGG6n
23.1 <wyh oybipwwmnp shwlnhuwgnn
w(dh hwdwp
UGJwlwwhnpng hwpyh pugmu Updtipnptinh hwhy 360,000.00
UlJwlwwhnng hwpymu Ghipuwnjud
wmtintymp niGGtph thnthnfunipjw UGydwn
qpuignud
Snipwipwilisnin
widuyw Jbpohl
wlhyjwlwmnppng
huwpdm wnljuw
wpdbprpliph
(puguwpnipjudp <<
l(upquinpng
ontjwymy wnlanphl
pajjuupwo, ilsuybu
Gl whmwlul junf
V)
Uwwnppng hupnts wnlw hwifwyGpuihl 0.00075%
wpdtpnpbph wuhuwGnu vl Gmipin G Gyuquqniyln 100
NOLPIPLNN vty hwlghuwgng s << o
GblipnGwliul
pwlgpl
ubthwlwlmppul
fpwynilipny
wunnljuwlng
wpdlipnpbpfi)
dlGwgnpnlbph
wlijwlwlul
wndbp/
Uduwlul
23.2 Qupyh owybpunnnp hwlnhuwgng
wldh hwdwp
UaJwlwwmhpng hw)yh puwgnid | Undtipnptinh hwphy | UGJdwp




UlJwlwwhnng hwpymu Ghipuwnjud

wmtintymp niGGtph thnthnfunmpjw UGydwn
qpuignd
Smpupwlysni
widuyw Jbpohl
whjwlunnppng
hupymd wnliw
wpdbpnpbph
(pugwnnipjudp <<
qupquinyng
gniquynmid wnlanphl
pajjuupwo, ilsuybu
Gl whmwlu G junf
hwduwylpuhl
Eﬁt}hl?;nu;;};p Eﬁfﬁiﬁiﬁjﬂ?nuw vl Gmipin G 0.0007%
hwlghuugnn uwd <<
GblipnGwliul
pwlgpl
ubthwlwlmppul
fpwympny
wunnlfjwlng
wpdbpnpbph)
dlwgnpnlbph
wlijwlwlul
wndtp/
Uduwlul
Ounwptpypju wwhwnnih Shongny
hwywnynn wpdtprnpbnh
wwhwywliwb L wyn wpdupnpbpny
gqnnownpGnh uvywuwpydwl
ownwympjniGGLn.
(ownwympmGGtph opowGuyp
Yupnn £ wwpptpdty” jwiejwd
omuwptpynjuw ywhwoenthg)
24. Updhpnpbph vuhwywlGdw b
ownwympnili
UtihwlwGuinhpng UbGupnGwlwt
(wGwGuwwnhpng) tunqhunwppwghG
hw2ynid wnyw T nhuy
‘ wpdtipnpbph omwpbpynyw
PwdbwyhlG wpdtpnptinh (wjn pynd i G ownury/ wwhwnnth Ynnihg
$nlnh thubph) wwhwywnig L “h‘“d I 1 hpuyuwpuywd
wiuwu uwughG (Gapunyuy
(wundtpnplinh hwpybipp) + 40%
dlwgnpnh opwywl huityugh
hwyJwnyny)

MwpwpwjhG wpdtipnptph
wwhywimd (pugunnipjuip <

wlnilGhg pnnupyyuo
typnywpumwwmniubinh)




<L wnGhg pnqupyjuo

0
typnuuwpumwumndiubph wwhuw Gnid 0.0020%
25, Gnpuynpunnpy gnponnmipiniGGGn
UtthwlwGwuhpng UtlunpnGuywb
(wlthwOunnppng) ntwynahuwphugh
hwpynd wnljw oty
winpdtipnph
Unpdtpnptiphg unwgynn n ﬁri}h ulj Iﬁlg;lgw quy/ wwhwnnth Ynnihg
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